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ENINEAO 1
(15 pages)(30 questions)

INSTRUCTIONS TO CANDIDATES:
OAHTIIEZ NPOZ TOYZ ATIArQNIZOMENOYzZ:

For each question, choose and circle the best answer A, B, C, or D

Ma kabe epwTnoN, ENIAEETE KAl KUKAWOTE TN KAAUTEPN andavrnon
A, B, 'nA.
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1. On 1 January 2011 a sole trader had capital of €25.000. During
the year, he withdrew €23.000 for his own use and, at 31
December 2011, he had capital of €31.000. If he introduced
€5.000 in cash as additional capital during the year, then his
Net Profit for the year was:

A. €14.000
B. €22.000
C. €24.000
D. €34.000

1. Tn 1 Iavouapiou 2011 pia ATOMIKN ENIXEIPNON EIXE KEPAAAIO

€25.000. Karta tn S1apKEIa TOU ETOUG, O ENIXEIPNHATIAG ANECUPE
€23.000 yia npoownikn Tou Xpnon, kai Tn 31 Aekeyppiov 2011 1o
KEPAaAaio TNG enIXeipnong avépxeral o€ €31.000. Av o
EMIXEIPNHATIAC €ICEPEPE €5.000 HETPNTA oAV VEO KEPAAAIO KATA
TN 31ApPKEIA TOU £TOUG, TO KaBapo kEPDoG TNG Xpoviag 6a nrav:

A. €14.000
B. €22.000
r.  €24.000
A. €34.000

2. Which of the following is NOT a Book of Original Entry?

The Purchases Journal (daybook)
The General Ledger (nominal)
The Journal

The Petty Cash Book
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2. Moio ano Ta nio kartw dev anoteAei «BiBAio Apxikng Eyypapng»;

A. To BiBAio Ayopwv
B. To levikd KaBoAikd
. To HuepoAoyio

A. To Mikpo Tapeio

3. A firm which purchased four (4) items on credit at a cost of
€100 each, less 25% Trade Discount and entitled to deduct a
cash discount of 5% if it pays for them, in full, within 14 days
of the invoice date.

If the firm pays within the above two week period, it will have
to pay:

A. €260
B. €280
C. €285
D. €300

3. Mia enixeipnon ayopaoce Téooepa (4) Tegayxia HE nioTwon,
kO0oTOUG €100 TO KaBE€va, Heiov Enopikn ‘EkNTwon 25%, Kal HE
dIkKaiopa TAHEIaKNG EKNTWONG 5% av eE0(pAnoel OAOKANPO TO
nooo HEoa o€ 14 NEPEG ano TNV NUHEPOMNVIA TOU TIHOAoyiou.

Av n snixeipnon eEoPpAnoel péoa oTnv ngpiodo Twv duo
eEBOoHGdWV, Oa npEnel va kataBaAsl To Nooo:

A. €260
B. €280
r. €285
A. €300

4. Which of the following transactions should be recorded in the
Journal?

Cash Sales

Fixtures bought on credit

Goods sold on credit

Motor Vehicles purchased by cheque
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4. nMoio ano TIC NAPAKAT®W cUVAAAAYEC NPENElI va KAaTaxmpnOei oTo
HupepoAoyio;

MNWAACEIG TOIG JETPNTOIC

Ayopd eninAwv Pe nioTwon
MwANON ELNOPEUPATWV HE MIOTWON
Ayopd aQUTOKIVATWV PE ENITAyn

BPow>

5. A firm bought a Building for €500.000. The asset has an
estimated scrap value of €50.000. If the asset is depreciated
at the rate of 20% per annum, using the Diminishing balance
method, the depreciation charge, in relation to the asset alone,
in the second year of its life will be:

€10.000
€72.000
€80.000
€82.000

oO0Owm>»

5. Mia snixeipnon ayopaoce £€va kripio yia €500.000. To nayio auto
gTolxeio £xel unoAsigpartikn aia €50.000.
Av TOo Naylio auTo OTOIXEIO ANOCPREVETAI HE NOCOOTO 20% E£TNCIWG
HE TN POivouoa HEB0SO, TO NOCO TNG ANOOBECNG KATA TO
3eUTEPO £T0G TNG {WNG TOU OTOIXEIOU AuToU €ivai:

A. €10.000
B. €72.000
. €80.000
A. €82.000

6. If there is a separate provision for depreciation account in the
nominal (general) ledger for each category of fixed asset, the
double-entry to record the depreciation charge on machinery for
the current year is:

Account to Debit: Account to Credit:

A. Profit and Loss Provision for depreciation of machinery
B. Machinery Profit and loss

C. Profit and Loss Machinery

D. Depreciation of Machinery Machinery



6. Av yia KaOe €id0G NaAyiou OTOIXEIOU, UNAPXEI EEXWPIOTOG
Aoyapiaocpog «MpoBAswn yia anooBeon>» OTO YEVIKO KAOOAIKO,
n SINAoEyypa®Pn yia Kataxmpion Tou noogouU TnG anooBeong
HNXAvnHAaTwy, yid To TPEXOV £€TOG Eival:

AoyapiaopoG Nou XPEWVETAI:  AoydapiacHOG NoU NICTWVETAI:

A. AnoTteAéopaTta Xpnong, TMpoBAewn yia andooBeon pnxavnuatwy

B. Mnxavnuara, AnoTeAEéoparta Xpnong

. AnoteAeéoparta Xpnong, MnxavnuaTa

A. AndoBeon punxavnuatwyv, Mnxavnuara.

7. Capital expenditure is:

A.
B.

C.
D

money brought into a firm by its proprietor

expenditure incurred to finance the day-to-day operations of a
firm

expenditure incurred on the acquisition or improvement of fixed
assets

none of the above

7. Ke@aAaiouyxikn danavn eivai:

8.

A.
B.

r.

A.

To NooOG NOU EICEPEPE OTNV ENIXEIPNON 0 €NIXEIPNUATIAG

H dandavn nou xpnuatodoTei TIG KABNUEPIVEG AEITOUPYIEG TNG
gnixeipnong

H dandvn nou yiveral yia Tnv anoktnon n tn BeATiomon Twv
nNaylwVv OTOIXEIWV

Kaveva ano Ta nio navw

Which of the following is revenue expenditure?

oW

The cost of acquiring machinery for continuing use in the business
The introduction of additional capital by a proprietor
The cost of advertising a mid-season sale

. The transfer of surplus funds from a bank current account to a

bank deposit account

Moio anod Ta napakdaTm anoTeAei AsiIToupyikn danavn:

A.

To KOOTOC ayopdc UNXAvANAToC yia TN AEIToupyia Tou oTnVv
enixeipnon

H eicpopd npooBeTou KePaAaiou anod Tov I01I0KTATN

To KOOTOG d1aPMIoNG NWANCEWV OE NEPIOdO EKNTWOEWV

H peTapopd Tou NEPICCEUPATOC KEPAAAIOU anod TOV TPEXOUHEVO
Aoyapiaouo oTo Aoyapiaoud Katabeoewyv



From the following list of balances find the working capital
as at 31 December 2011.

Non-current (fixed) assets €80.000
Capital €73.000
Loan from J. John €20.000
Closing stock € 2.000
Sundry creditors € 4.000
Stock of stationery € 500
Sundry debtors € 8.000
Bank overdraft € 3.000
Cash in hand € 500
Interest receivable in advance € 1.000
Bills receivable € 7.000
A € 3.000

B € 8.000

C €12.000

D €10.000

Ano TN nio Karw Aiora unoAoinwv va Bpeite To kKePaAaio
kivhong oTig 31 AskepBpiou 2011.

Mn-kukAo@opouv(MNaylo)evepynTikO €80.000

KegpaAaio €73.000
Aaveio ano Tov J. John €20.000
TeAIKO anOOEPA EPNOPEUHATOV € 2.000
A1GQOopPOoI NIOTWTEG € 4.000
AnoBepa ypa@ikng UANG € 500
A1GQOPOI XPEWOTEG € 8.000
Tpane(ik6 naparpapnypa € 3.000
MeTpnTa € 500
TOKoOI €10NPAKTEOI NpokaTaBoAika € 1.000
FpappaTia eIonNpakTea € 7.000
A € 3.000

B € 8.000

r €12.000

A €10.000

Which one of the following pairs of ledger accounts are real
accounts?

A Premises and rent payable

B Cash in hand and cash at bank
C Capital and debtors

D Advertising and interest received



10.

11.

11.

12,

12,

Moi16 ano Ta akoAouBa {euyn AoyaplaoH®V Eival NpayHaTikoi
Aoyapiaocpoi;

A AKivNTa Kai evoikia NnAnpwTea

B MeTpnTa kal Tpanela

r KepdaAalo kal XpewOoTEG

A Alapnuiosic kal €0o0da and TOKOUG

A sole trader, has taken goods valued at €1.000 for his own
use. This has not been recorded in arriving at his draft
reported profit figure. To record this he must:

A Debit capital, Credit stock
B Debit drawings, Credit purchases
C Debit capital, Credit purchases
D Debit drawings, Credit sales

‘Evag eniXeipnuariag, eixe napel epnopevpara aiag €1.000
Yid Npoo®nIKN TOU Xpnon. AuUTO J&ev eiXe kataypa®ei kata
TOV NPOXEIPO UNOAOYIOHO TOU KEPDOG. MNa TNV kataxwpnon
TNG ouvaAAayng npénei va:

A Xpewoel KepaAalo, MoTwoel EynopeupaTa
B Xpewoel npoownikeG anoAnYelg, MoTwoel ayopEg
I Xpewoel KepaAaio, MoTwoel ayopec

A Xpewoel NpoownikeG anoAnYeic, MoTwoel NWANCEIC
What is the purpose of preparing a trial balance?

A. to check the arithmetical accuracy of the book-keeping

B. to find the net profit or net loss

C. to check that all transactions have been included in the books of
accounts

D. to prove that there are no book-keeping errors

O oKONnoOG TNG ETOIHagiag Tou dokigaoTikoU 1Icoduyiou givai:

A. Na eAéyEoupe Tn apIBUNTIKN akpiBeia TwV AOYIOTIKQOV EYYPAPOV

B. Na unoAoyicoupe To kaBapo kepdOG n TN kabapn {nuida

. Na eAéyEoupe 0TI OAEC oI GUVAAAAYEC €XOUV oUPNEPIANGOEi oTa
AoyioTika BiBAia

A. Na anodeiEoupe 0TI dev UNAPXOUV AOYIOTIKA AAGONn



13. Revi has the following balances in her accounts:

13. H P£Bn €xe1 Ta Nio KATtw unoAoina oToug Aoyapiacpoug TNG:

14.

Purchases € 55.000
Carriage outwards € 800
Carriage inwards € 1.000
Discount received € 2.000
Opening stock € 10.000
Sales €100.000
Closing stock € 12.000
Returns outwards € 3.000

What is Revi’s cost of sales?

A €49.000
B €50.000
C €51.000
D €51.800

AyopEG

MEeTAPOPEC NWANCEWYV
METAPOPEG AyopwV

EKNTWOEIG €10NPAKTEEG

ApXIKO anOBePa EPNOPEUNATWV
MNMwAROCEIC

TeAikd anoBepa ePNoPeEUPATWV
EnioTpogeg ayopwv

€ 55.000
€ 800
€ 1.000
€ 2.000
€ 10.000
€100.000
€ 12.000
€ 3.000

Molo €ival To KOOTOC TWV NWANCEWV TNG PERNG;

A €49.000
B €50.000
r €51.000
A €51.800

Daily sales returns of €60 were posted from the day book to
the credit of the sales returns account. As a result, the net

profit of the business was:

overstated by €120
understated by €120
overstated by €60
understated by €60

OO w>



14.

15.

15.

16.

16.

O1 OUVOAIKEG ENICTPOPEC NWANCEWV HIAG NHEPAG UWoug €60,
KATax®wpnoénkav ano 1o nHepnaoio BIBAio enioTpoPpwv
NWANCEWV OTN NiCTWON TOU AOYydpiaoHoU ENICTPOP®V
NWANCEWV. AUTO EiXE oav anoTéAEoHaA To KaBapo KEPSOG TNG
enixeipnong va:

A unepTIKNBEei kaTa €120
B unoTiunBei katda €120
r unepTIKNBei kaTa €60
A unoTignOGei kata €60

Net Assets/Net Worth of a business is:

Fixed Assets + Working Capital - Long term liabilities
Capital + Working Capital - Long term liabilities
Fixed Assets + Current Assets + Long term liabilities
Fixed Assets + Working Capital + Long term liabilities

OO w>

KaBapo EvepynTiko/KaBapn Oikovouikn a§ia Hiag enixeipnong
givar:

A Mnayio Evepynrikd + KepaAaio Kivnong — MakponpoBsopo
MNaénTiko

B KepaAaio + KepdAalo Kivnong — MakponpoBeopo MabnTikd

r Mnayio EvepynTikd + KukAo@opiakd evepynTiKO+
MakponpoBeopo MabnTiko

A MNayio EvepynTikd + Ke@aAaio Kivnong + MakponpoBeapo
MNaénTiko

The total of the Discount Received column which appears in a
three Columns Cash Book (Payments side) is transferred to:

The Debit side of Creditors account

The Credit side of Discount Received account
The Debit side of Discount received account
The Credit side of Discount Allowed account

OO w>

To a6poiopa TnG oTAANG EKNTwoeIG EIONPpAaKTEEG Nou BpiokeTal
oTNV NAgUpd THV NANPWH®V ToU TpioTnAou BiBAiou Tapegiou
HETAPEPETAL:

>Tn XpE€waon Tou Aoyaplacpou MoTwTeg

>1n MioTwon Tou AoyapiacpoU EkNTwoeic EilonpakTeeg
21N Xpewaon Tou AoyaplacuoU EkNTwoeig EIONpakTEEG
>1n MioTwon Tou AoyapiaopyoU EKNTwoeIC XOpnYOUHEVEC

> W >



17.

17.

The following was a list of Assets and Liabilities of a firm as at
31 December 2011.

Freehold Premises €80.000
Creditors €15.000
Debtors €25.000
Bank Overdraft € 8.000
Stock €10.000
Cash in hand € 2.000
Equipment €20.000
Bills Payable €10.000

The firm’s Capital as at 31st December 2011 was:

A €104.000
B € 85.000
C €130.000
D € 94.000

Mo kGt napaBEToupe Ta oToixeia EvepynTikoU kail MadnTikou
HiIag enixeipnong oTig 31 AskeuBpiou 2011.

I310KTNTEG KTIPIAKEG eykaTaoTaoelg €80.000

MoTwTEG €15.000
XPEWOTEG €25.000
MNapatpapnypa € 8.000
Epnopeupara €10.000
MeTpnTd OTO TAMEIO € 2.000
E€onAiopdcg ypageiou €20.000
FpappdTia NANpwWTEa €10.000

To kepdaAalo Tng enixeipnong oTig 31 AekeuBpiou 2011 ATav:

A €104.000
B € 85.000
r €130.000
A € 94.000



18.

18.

19.

19.

20.
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The monthly rent payable by a business for the use of a
showroom is €300. During the financial year the firm paid for
rent €3.800. Which of the following amounts represent the
amount that should be transferred to profit and loss account?

A €3.800
B € 200
C €3.600
D € 300

To pnviaio Evoikio Nou NANPWVEI HiAa ENIXEipnon yia TN XpRon
€VOG kataoTnpaTog eival €300. Kata Tn 3i1apKeIa Vo
AoyioTIKOU £€TOUG N eniXeipnon nAnpwoe €3.800. Moio ano Ta
napakartw nocd 0a peTa@epOei oTo Aoyapiacuo anoteAéocpara
XPNOENG;

A €3.800
B € 200
r €3.600
A € 300

When final accounts are prepared, the Bad Debts Recover
account is closed by a transfer to the:

A Debit side of Debtors account

B Credit side of Profit and Loss account
C Debit side of Profit and Loss account
D Debit side of Bad Debts account

‘OTav eToipadovrail ol TeAikoi Aoyapiacpoi, o AoyapiacHog
Eionpain Alaypa@eio®v anaiTnOEwV 0a KAgioEl

HETAPEPOHUEVOG:

A >Tn XpEwaon Tou Aoyaplaopou XPEWOTWV

B >1n MioTwon Tou AoyapliaopoU ANOTEAECHATWV XPAOEWC
r >Tn Xpéwaon Tou AoyaplacpoU ANOTEAECHATWY XPHOEWG
A >Tn Xpéwaon Tou AoyaplacpoU ANWAEIEC XPEWOTWYV

A petty cash book is balanced at the end of each week and the
cash float restored by the grant cashier every Monday
morning. At the start of particular week the cash float is
€150. Petty cash vouchers for the week total €134,56. How
much is the cash available at the end of the week?



20.

21.

21.

22,

22.

11

A €150,00
B € 15,44
C  €134,56
D € 84,56

To HIkpO Tapeio e§iIcWVEeTAl OTO TEAOG KGOBe eBdopadac kai 1o
anoBspga HETPNTOWV anokadioraral and To HeEydAo Tapia kabe
AsuTépa npwi. ZTNV ApXn OUYKEKPIHEVNG €BRJopadag To
anoBepa peTpnT®V ATav €150. Ta e&evrdApatra nAnpwHAG
Hikponoowv TnG £RJdopadac avépyxovrar oe €134,56. Mooov
€ival To anoOepa HETPNT®OV OTO TEAOG TNG EBOoONAdAG;

A €150,00
B € 15,44
F €134,56
A € 84,56

Transactions recorded in the Sales Day Book are:

Sales of Goods for Cash

Sales of Fixed Assets on Credit
Sales of Goods on Credit

Sales Return from Debtors

opwp

210 HUyepnoio BiBAio NWARCE®V KATaXWPOoUvVTAl 0l CUVAAAQYEG:

A. TwANOEIC EUNOPEUPATWY TOIC HETPNTOIC

B. TMwAnosic ZTaBepwVv evepynTIKWV OTOIXEIWV HE MIOTWON
. MNwANCEIC EUNOPEUPATWY HE NioTWON

A. EnoTpo@eg MwARCEWY EUNOPEUNATWV

Which one of the following you would not take into account
when calculating working capital.

A Plant and Machinery
B Cash

C Debtors

D Creditors

Moilo and Ta napakdarm dev 6a cUUNEPIAGBEIG OTOV UNOAOYIOHO
TOU KeaAdiou Kivnong.

A Mnxavnuara
B MeTpnTa

r XPEWOTEC

A MoTWTEG
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23.

24.

24.

25.
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At the end of the accounting period, the balance on the
Provision for Depreciation account is

o0Owm>»

transferred to the profit and loss account

transferred to the depreciation account

subtracted from the asset account

subtracted from the cost of the asset in the Balance sheet

210 TEAOG MIaG AoOyIOTIKAG NEPIOSOU, TO UNGAoINO OTO
Aoyapiacpo npoBAewnG yia anooBeon

A
B
r
A

METAPEPETAI OTO AOYAPIACHO ANOTEAECHATWV

METAPEPETAI OTO Aoyaplacud anooBeon

agaipeitTal andé To Aoyapiacuo Tou eVEPYNTIKOU

agaipeital anod To KOOTOC TOU EVEPYNTIKOU OTOV I00OAOYIOHO

Accrued expense would be shown on the balance sheet as:

A
B
C
D

a current liability
a current asset
a fixed asset
drawings

OpeiIAopeva £€0da 0a eppavicOoUV oTo 1I00AOYIOHO WG:

> W

KUKAOQOPIKO NadnTiko
KUKAOPOPIKO EVEPYNTIKO
naylo evepynTiko
NPOCWMNIKES AVAANWEIG

A bad debt previously written off is recovered later in the
same financial year. The double entry to reinstate the debt in
the accounts would be:

A
B

O 0O

credit the profit and loss account and debit the debtor’s account

credit the bad debts recovered account and debit the debtor’s
account

debit the bad debts account and credit the debtor’s account
credit the bad debts account and debit the debtor’s account



25.

26

26

27.
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Mia anwA&ia XpEoug Nou d1aypaPnke, eiIonpaxonke
HETAYEVEOTEPA OTO i010 OIKOVOHIKO £T0G. To dinAoypa®iko
oUoTnHa yia enava@opda Tou XpPEoUG oTouG AoyapiacHoug Oa:

A MnoTwOei oTo Aoyapiaoud anoTeAeopaTwy Kal 6a Xpewbei oTo
Aoyaplaopo XPEWOTEG

B noTwOei oTo Aoyapiaouod sionpa&eic diaypaPeIowyV anaiTrnosEwyv
Kal 6a XpewOei 0TO Aoyapiaopo XPEWOTEC

r XPEWOEI 0TO Aoyapiaopo anwAegleg and XpeEWOTEC Kal Ba

MnoTwOei 0TO Aoyapiaoud XPEWOTEC

A MoTwOei 0 Aoyapliaopoc anwAelec and XPeEWOoTeG Kal 6a Xpewoei
0 A\oyapiaopoc XPEWOTEG

. On 1 July 2004 a firm purchased a new Motor Car by cheque.
The cost of Motor Car was €22.000. Using the Straight Line
Method of Depreciation (INDIRECT WAY), what will be the
balance on the Provision for Depreciation of Motor Car’s
account on 1. 1. 2007 assuming estimated life 4 years and
disposable (scrap) value €2.000.

A. € 2.000
B. €18.000
C. €12.500
D. €15.000

. Tn 1 IouAiou 2004 HiIa eniXEipnon ayopaoce Eva Kaivoupyio
auTokivnTo HE emiTtayn. To KOOTOG TOU AUTOKIVATOU ATav €22.000.
Eqpappolovrac Tnv otabepn pEOBO0SO anooBeong (EMHECO TPONO),
T1 6a €ival To unoAoino oTo AoyapiacHo nPoBAsEnNOHEVN anooBeon
TOU auTokivATOU TN 1.1.2007 av n avapevopevn {mwn Tou givai 4
Xpovia kal n unoAsinopevn a&ia €2.000.

A. € 2.000
B. €18.000
. €12.500
A. €15.000

A business with financial year end 30 of June, buys a non-
current asset on the 1 of January 2009 for €100.000.
Depreciation is charged at 20% per annum on the straight line
method. On 30 of June 2011 the asset was sold for €45.000.
What was the Net book value of the asset?
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29.
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A €50.000
B € 5.000
C €55.000
D €40.000

Mia enixeipnon HE OIKOVOMHIKO £T0G nou ARyel oTig 30 Iouviou
ayopaoce £€va HN-KUKAoOQoOpouUv evepynTikd0 Tnv 1 Iavouapiou
2009 yia €100.000. H anooBeon unoAoyilete o 20% TOV
XPOvo HE TN otaBepn pEBOJO. ZTIC 30 Iouviou 2011 TO OTOIXEIO
evepYNTIKOU NWARONkKE yia €45.000. NMNoon ATav n kabapn aia
TOU EVEPYNTIKOU;

A €50.000
B € 5.000
C €55.000
D €40.000

Which of the following should be treated as capital
expenditure in the accounts of a sole trader?

A €100 taken by the proprietor to buy himself a HI - FI system
B €500 on purchasing goods for resale

C €200 on purchasing a new computer for his secretary

D €150 paid to a painter for redecorating his office

Moio anod Ta akoAouBa BewpeiTal KepaAaliouxik danavn oToug
AoyapiacpoUc evog enIXeEipnHaATia;

A €100 nou €xel napel o IGI0KTATNG YIa NPOCWIIKN ayopd €vOg
ouoTnuaTtog HI - FI

B €500 nou &odeuTnKav yia ayopd EUNOPEUATWY Yia
HETAnwAnon

r €200 nou &odeUTNKAV Yia ayopd €vOC VEOU UMOAOYIOTN yia TN
YPAUMATED TOU

A €150 nou nAnpwOnkav og €va pnoylaTtdn yia avakaivion Tou
ypageiou Tou

Which one of the following ledger accounts is NOT a Nominal
account?

Purchases
Advertising
Discount Received
Closing Stock

oowp
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30.
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Ano TouG NoiIo KATw AoyapiacHoug nNolog Jev givai
anoTeAeoHATIKOG AoyapiacHoc.

AyopEGg

Ala@nuioeig

ExnTwoeic AauBavopeveg
AnoBEuaTta Epnopeupatwy

BowP

An item of revenue expenditure has been incorrectly treated
as capital expenditure in the accounts of a business. What
effect will this error have on the accounts?

Net profit Assets
A. Decrease Decrease
B. Decrease Increase
C. Increase Decrease
D. Increase Increase

‘Eva AseiToupyiko £€§000 kata AaOoG To XEIPIOCTAKATE oav
KEPaAaiouyXiko £€£€080. Ti enidpacn €iXeE auTo OTOUG
Aoyapiacpouc;

Net profit Assets
A. Meiwon Meiwon
B. Meiwon AUEnon
r. AUEnon Meiwon
A. AUEnon AUEnon
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